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T Nooof [

 Question | PARTH

. Answer any THREE

1.2} | Find the ratio of bending and shear strain energy in the cantilever beam of 3m length carrying
| uniformly distributed load of 4.5kN/m with square c/s 200mm each side. Take Poisson’s ratio as
_ | 0.15. ’
: i Find the reaction at the propped end of a cantilever due to uniformly distributed load. Use Strain
energy principle.

o

4 .+ " Analyze the portal frame as shown in fig. 1 and draw bending moment diagram. Apply strain energy

. method.
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B! . Whatis static and kinematic indeterminacy? Find the static and kinematic indeterminacies of the
" heam as shown in Fig. 2.

3.8} ¢ Solve the simple continuous beam as shown in Fig. 3. Draw SFD and BMD showing the salient

" points
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b) What is the advantage and disadvantage of using Fixed Beam?
4.4 | A Three Hinged Parabolic arch with span &m, rise 2.5m is subjected to udi of 2.4KN/m for whoie
i span. Find the horizontal and vertical reactions. Also find the bending moment at a distance 2m
E from one end.
b)

Solve the Complex truss as in Fig.5 by Henneberg’s bar exchange method.
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Questions PART II ) . Murks
Answer question ne. 1 and any two from the rest. ;
1. | Determine the force in each member of the truss shown in Fig. 1. All members have [
the same cross-sectional area, i
. |
| |
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3 ' Find the slope and deflection at points B and D of given beam (Fig. 2) by Ese Moment Area i 1
| Method. '
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3. '
. 1 Determine the slope and deflection at point € of given beam (Fig. 3). Use Double Integration | 1
| Method. | '
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Evaluate the slope and deflection at point B of given beam (Fig. 4). U'se conjugate beam




